All Expenditures Data

This document contains all the expense categories Pew Forum researchers considered in the process of determining which expenditures most closely reflect each group's annual advocacy-related spending. Figures selected for inclusion in the analysis are marked with an "x." For some groups, researchers determined that none of the available figures appropriately reflected advocacy-related spending, in which case no figure was selected and the group was not included in the analysis. Changes to selected expenditure figures for particular groups from the November 2011 report are explained in the notes at the end of the document.

NAME	YEAR	SOURCE	ADVOCACY EXPENDITURES		CTED 2009
Adventist Development and Relief	2009	2009 Annual Report, Total Expenses	\$61,351,704		
Agency International	2009	2009 Annual Report, Public Relations Expenses	\$529,395		x
	2008	2008 Annual Report, Total Expenses	\$119,083,367		
	2008	2008 Annual Report, Public Relations	\$431,580	х	
Advocates International	2009	2009 Form 990, Total Expenses	\$777.104		
		2008 From 990, Total Expenses	\$1,659,734		
Africa Faith & Justice Network	2009	2009 IRS Form 990, Total Expenses	\$198,193		х
	2008	2008 IRS Form 990, Total Expenses	\$224,176	х	[
Agudath Israel of America	2008	2008 IRS Form 990, Total Expenses	\$13,083,159		
	2008	2008 IRS Form 990, Public Affairs Expenses	\$1,278,433	x	
	2008	Agudath Israel of America Foundation 2008 IRS Form 990, Total Expenses	\$1,581,756		
American Baptist Churches USA, National Ministries' Office of Governmental Relations	2009	2008-2009 Financial Statements, Total Expenses	\$6,639,330		
	2008	2007-2008 Financial Statements, Total Expenses	\$7,993,808		
American Center for Law	2009	2009 IRS Form 990, Total Expenses	\$989,347		х
and Justice	2008	2008 IRS Form 990, Total Expenses	\$1,036,050	х	
American Friends Service	2008	2009 Annual Report, Total Program Services	\$36,329,709		
Committee	2008	2009 Annual Report, Community Relations	\$10,989,126		
		2009 Annual Report, International Programs	\$13,004,539		
	2008	2009 Annual Report, Peace Education	\$7,382,800		
	2008	2009 Annual Report, Special Programs	\$4,953,244		
American Humanist Association	2009	2009 IRS Form 990, Total Expenses	\$2,077,930		х
	2009	2009 IRS Form 990, Public Awareness	\$1,072,303		
	2009	2009 IRS Form 990, Education	\$557,213		
	2009	2009 Annual Report, Total Expenses	\$1,983,387		
	2009	2009 Annual Report, Public Awareness	\$1,047,204		
	2009	2009 Annual Report, Education	\$542,124		
	2008	2008 IRS Form 990, Total Expenses	\$1,848,018	x	
	2008	2008 IRS Form 990, Public Awareness	\$766,201		
	2008	2008 IRS Form 990, Education	\$483,935		
	2008	2008 Annual Report, Total Expenses	\$1,887,317		
		2008 Annual Report, Public Awareness	\$838,378		
	I	2008 Annual Report, Education	\$486,991		·····

NAME	YEAR	SOURCE	ADVOCACY EXPENDITURES		2009
American Islamic Congress	2009	2009 IRS Form 990, Total Expenses	\$1,357,198		x
	2008	2008 IRS Form 990, Total Expenses	\$959,557	x	
American Israel Public Affairs Committee	2008	501(c)(3) 2008 IRS Form 990, Total Expenses, and 501(c)(4) 2008 IRS Form 990, Total Expenses	\$87,899,089	х	
	2008	501(c)(4) 2008 IRS Form 990, Total Expenses	\$63,549,562		
	2008	501(c)(3) 2008 IRS Form 990, Total Expenses	\$24,349,527		
American Jewish Committee	2008	2008 IRS Form 990, Total Expenses	\$44,696,184		
	2008	2008 IRS Form 990, Total Lobbying Expenditures	\$85,262		
	2008	2009 Annual Report, Total Operating Expenses	\$46,378,000		
	2008	2009 Annual Report, Government & International Affairs Expenses and Domestic Policy Expenses	\$13,362,000	x	
	2008	2009 Annual Report, Government & International Affairs	\$11,242,000		
	2008	2009 Annual Report, Domestic Policy	\$2,120,000		
American Jewish World Service	2009	2009 IRS Form 990, Total Expenses	\$37,799,847		
	2009	2009 Annual Report, Total Expenditures	\$38,568,626		
	2009	2009 Annual Report, 2009 Total Advocacy Expenditures	\$1,048,899		x
	2008	2008 IRS Form 990, Total Expenses	\$29,744,766		
	2008	2009 Annual Report, Total Expenditures	\$31,313,628		
	2008	2009 Annual Report, 2008 Total Advocacy Expenditures	\$1,444,400	X	
American Life League	2009	2009 IRS Form 990, Total Expenses	\$6,670,030		x
	2008	2008 IRS Form 990, Total Expenses	\$6,919,259	x	
American Values	2009	2009 IRS Form 990, Total Expenses	\$1,039,001		x
	2008	2008 IRS Form 990, Total Expenses	\$1,530,876	x	
Americans for Peace Now	2009	2009 IRS Form 990, Total Expenses	\$1,970,247		x
	2008	2008 IRS Form 990, Total Expenses	\$2,051,141	x	
Americans for Religious Liberty	2009	2009 IRS Form 990, Total Expenses	\$127,899		x
	2008	2008 IRS Form 990, Total Expenses	\$138,820	х	
Americans United for Life	2008	501(c)(3) 2008 IRS Form 990, Total Expenses, and 501(c)(4) 2008 IRS Form 990, Total Expenses	\$3,340,406	X	
	2008	501(c)(3) 2008 IRS Form 990, Total Expenses	\$2,450,863		
	2008	501(c)(4) 2008 IRS Form 990, Total Expenses	\$889,543		
Americans United for Separation of	2008	2008 IRS Form 990, Total Expenses	\$6,308,554	х	
Church and State	2008	2008 IRS Form 990, Total Lobbying Expenditures	\$463,641		
	2008	2009 Annual Report, Total Expenses	\$6,279,783		•

NAME	YEAR	SOURCE	ADVOCACY EXPENDITURES		2009
Anti-Defamation League	2009	2009 IRS Form 990, Total Expenses	\$56,036,632		
	2009	2009 IRS Form 990, Civil Rights Expenses	\$5,751,084		
	2009	2009 IRS Form 990, Lobbying Expenses	\$484,194		x
	2009	Anti-Defamation League Foundation 2009 IRS Form 990, Total Expenses	\$19,029,040		
	2008	2008 IRS Form 990, Total Expenses	\$62,903,147		
	2008	2008 IRS Form 990, Civil Rights Expenses	\$7,103,482		
	2008	2008 IRS Form 990, Lobbying Expenses	\$425,992	x	
	2008	Anti-Defamation League Foundation 2008 IRS Form 990, Total Expenses	\$24,553,648		
Association of Catholic Colleges and Universities	2008	2008 IRS Form 990, Total Expenses	\$994,065		
Association of Christian Schools	2009	2009 IRS Form 990, Total Expenses	\$17,781,524		
International	2009	2010 Annual Report, Total Expenses	\$26,529,723		Ī
	2008	2009 IRS Form 990, Total Expenses	\$18,008,417		
	2008	2009 Annual Report, Total Expenses	\$29,647,973		
Association of Jesuit Colleges	2008	2008 IRS Form 990, Total Expenses	\$1,945,718		
and Universities	2008	2008 IRS Form 990, Government Relations Expenses	\$173,390	x	
Baptist Joint Committee for Religious Liberty	2008	October 2007 "Report from the Capital" Newsletter (Vol. 62, No. 9), Approved 2008 Budget	\$1,200,000	x	
Baptist World Alliance	2009	2008-2009 Audited Financial Statements, Total Expenses, Unrestricted	\$3,659,663		
	2008	2008-2009 Audited Financial Statements, Total Expenses, Unrestricted	\$4,785,057		
Barnabas Aid*	2009	2009 IRS Form 990, Program Service Expenses, Line 4a	\$1,002,792		
	2008	2008 IRS Form 990, Program Service Expenses, Line 4a	\$653,569		
Becket Fund for Religious Liberty	2008	2008 IRS Form 990, Total Expenses	\$2,281,041	x	
B'nai B'rith International	2009	2010 Annual Report, Total Expenses	\$24,134,000		
	2009	2010 Annual Report, Public Advocacy Expenses	\$1,951,000		х
	2008	2009 Annual Report, Total Expenses	\$32,293,000		
	2008	2009 Annual Report, Public Advocacy	\$1,857,000	x	
Bread for the World	2009	501(c)(3) 2009 IRS Form 990, Total Expenses, and 501(c)(4) 2009 IRS Form 990, Total Expenses	\$11,384,471		х
	2009	501(c)(3) 2009 IRS Form 990, Total Expenses	\$5,311,463		İ
	2009	501(c)(4) 2009 IRS Form 990, Total Expenses	\$6,073,008		†
	2008	501(c)(3) 2008 IRS Form 990, Total Expenses, and 501(c)(4) 2008 IRS Form 990, Total Expenses	\$10,763,466	x	
	2008	501(c)(3) 2008 IRS Form 990, Total Expenses	\$4,946,585		
	2008	501(c)(4) 2008 IRS Form 990, Total Expenses	\$5,816,881		İ

NAME	YEAR	SOURCE	ADVOCACY EXPENDITURES	SELECTED 2008 2009
Care Net	2009	2009 IRS Form 990, Total Expenses	\$5,976,356	
	2009	2009 IRS Form 990, Public Education	\$677,635	
	2009	2009 IRS Form 990, Total Lobbying Expenditures	\$3,210	
	2009	2010 Annual Report, Total Expenses	\$6,148,687	
	2009	2010 Annual Report, Public Education	\$677,635	
	2008	2008 IRS Form 990, Total Expenses	\$6,832,152	
	2008	2008 IRS Form 990, Public Education	\$589,449	
	2008	2009 IRS Form 990, Total Lobbying Expenditures	\$95	
	2008	2009 Financial Statements, Total Expenses	\$7,727,009	
	2008	2009 Financial Statements, Public Education	\$426,939	
	2008	2009 Annual Report, Total Expenses	\$7,035,662	
	2008	2009 Annual Report, Public Education	\$589,499	
Catholic Charities USA	2009	2009 IRS Form 990, Total Expenses	\$26,187,404	
	2009	2009 IRS Form 990, Social Policy Expenses	\$1,535,303	x
	2009	2008-2009 Consolidated Financial Statements, Total Expenses	\$26,558,841	
	2009	2008-2009 Consolidated Financial Statements, Social Policy	\$1,528,303	
	2008	2008 IRS Form 990, Total Expenses	\$23,463,668	
	2008	2008 IRS Form 990, Social Policy	\$3,267,777	
	2008	2007-2008 Consolidated Financial Statements, Total Expenses	\$23,972,954	
	2008	2007-2008 Consolidated Financial Statements, Social Policy	\$1,545,507	x
Catholic Family and Human Rights	2009	2009 IRS Form 990, Total Expenses	\$1,408,243	х
Institute	2008	2008 IRS Form 990, Total Expenses	\$1,305,631	x
Catholic Health Association	2009	2009 IRS Form 990, Total Expenses	\$19,332,120	
	2009	2009 IRS Form 990, Total Lobbying Expenditures	\$995,533	x
	2008	2008 IRS Form 990, Total Expenses	\$17,545,041	
	2008	2008 IRS Form 990, Total Lobbying Expenditures	\$821,634	х
Catholic Legal Immigration Network,	2009	2009 IRS Form 990, Total Expenses	\$5,726,417	
Inc.	2009	2009 Annual Report, Total Expenses	\$5,797,917	
	2008	2008 IRS Form 990, Total Expenses	\$5,246,755	
	2008	2008 Annual Report, Total Expenses	\$5,261,755	

NAME	YEAR	SOURCE	ADVOCACY EXPENDITURES		CTED 2009
Catholic Relief Services*	2009	2010 Financial Statement Report, Total Operating Expenses	\$823,045,000		
	2009	2010 Annual Report, Public Awareness Expenses	\$4,673,000		
	2009	Internal Budget Database, Policy and Advocacy Expenses; Personal Correspondence with Representative	\$1,135,796		х
	2008	2009 Financial Statement Report, Total Operating Expenses	\$806,211,000		
	2008	2009 Financial Statement Report, Public Awareness	\$4,220,000		
Catholics for Choice	2009	2009 IRS Form 990, Total Expenses	\$2,960,748		х
	2008	2008 IRS Form 990, Total Expenses	\$3,035,452	х	
Catholics in Alliance for the Common	2009	2009 IRS Form 990, Total Expenses	\$658,784		х
Good	2008	2008 IRS Form 990, Total Expenses	\$1,400,717	х	
Center for Democracy and Human Rights in Saudi Arabia	2009	2009 IRS Form 990, Total Expenses	\$65,765		x
Rights in Saudi Arabia	2008	2008 IRS Form 990, Total Expenses	\$73,611	x	
Center for Interfaith Action on Global	2009	2009 IRS Form 990, Total Expenses	\$1,127,638		
Poverty	2008	2008 IRS Form 990, Total Expenses	\$108,909		
Center for Islamic Pluralism	2009	2009 IRS Form 990, Total Expenses	\$266,128		x
	2008	2008 IRS Form 990, Total Expenses	\$251,307	x	
Center for Public Justice	2009	2009 IRS Form 990, Total Expenses	\$364,473		х
	2008	2008 IRS Form 990, Total Expenses	\$432,380	x	
Center for the Study of Islam	2009	2009 IRS Form 990, Total Expenses	\$407,607		x
and Democracy	2008	2008 IRS Form 990, Total Expenses	\$368,875	х	
Center for Urban Renewal	2009	2009 IRS Form 990, Total Expenses	\$792,130		х
and Education	2008	2008 IRS Form 990, Total Expenses	\$455,246	х	
Center of Concern	2008	2008 IRS Form 990, Total Expenses	\$1,004,444	х	
Center on Conscience & War	2009	2009 IRS Form 990, Total Expenses	\$237,203		x
	2008	2008 IRS Form 990, Total Expenses	\$242,063	х	
China Aid Association	2009	2009 IRS Form 990, Total Expenses	\$1,358,345		
	2008	2008 IRS Form 990, Total Expenses	\$1,162,040		
Christian Action Network	2009	2009 IRS Form 990, Total Expenses	\$1,311,750		x
	2008	2008 IRS Form 990, Total Expenses	\$1,034,657	x	
Christian Coalition of America	2009	2009 IRS Form 990, Total Expenses	\$678,563		х
	2008	2009 IRS Form 990, Prior Year Total Expenses	\$809,394	x	
Christian Freedom International	2009	2009 IRS Form 990, Total Expenses	\$1,044,324		x
	2008	2008 IRS Form 990, Total Expenses	\$1,267,615	х	

NAME	YEAR	SOURCE	ADVOCACY EXPENDITURES		2009
Christian Legal Society	2009	2009 IRS Form 990, Total Expenses	\$1,972,961		
	2009	2009 IRS Form 990, Center for Law & Religious Freedom Expenses	\$786,892		x
	2009	2008-2009 Audited Financial Statements, Center for Law & Religious Freedom	\$786,892		
	2008	2008 IRS Form 990, Total Expenses	\$2,695,748		
	2008	2008 IRS Form 990, Center for Law & Religious Freedom	\$835,880	x	
	2008	2007-2008 Audited Financial Statements, Center for Law & Religious Freedom	\$835,880		
Christian Medical & Dental Associations	2009	2009-2010 Annual Report, Total Expenses	\$12,371,447		
	2008	2008-2009 Financial Statements, Public Affairs and Public Policy Expenses	\$375,549	x	
	2008	2008-2009 Financial Statements, Total Expenses	\$12,267,229		
Christian Relief Services	2009	2009 IRS Form 990, Total Expenses	\$18,150,057		
	2008	2008 IRS Form 990, Total Expenses	\$24,981,989		
	2008	2009 Audited Financial Statements, Total Expenses	\$26,761,492		
	2008	2009 Annual Report, Total Expenses	\$26,671,492		
Christians' Israel Public Action	2009	2009 IRS Form 990, Total Expenses	\$35,452		x
Campaign	2008	2008 IRS Form 990, Total Expenses	\$11,065	Х	
Church World Service*	2009	2009 IRS Form 990, Total Expenses	\$79,348,240		
	2009	2010-2011 Audited Financial Statements, Education and Advocacy Expenses	\$2,008,441		x
	2008	2008 IRS Form 990, Total Expenses	\$72,589,171		
	2008	2008-2009 Audited Financial Statements, Education and Advocacy Expenses	\$2,928,739	х	
		2008 IRS Form 990, Education and Advocacy Expenses	\$2,928,739		
Churches for Middle East Peace	2009	2009 IRS Form 990, Total Expenses	\$342,177		х
	2008	2008 IRS Form 990, Total Expenses	\$285,084	x	
CitizenLink (A Focus on the Family	2009	501(c)(4) 2009 IRS Form 990, Total Expenses	\$10,844,044		x
Affiliate)	2009	501(c)(3) 2009 IRS Form 990, Total Expenses	\$121,538,526		ļ
	2009	501(c)(3) 2009 IRS Form 990, Total Lobbying Expenditures	\$34,114		
	2008	501(c)(4) 2008 IRS Form 990, Total Expenses	\$9,978,145	X	
	2008	501(c)(3) 2008 IRS Form 990, Total Expenses	\$129,903,327		
	2008	501(c)(3) 2008 IRS Form 990, Total Lobbying Expenditures	\$224,641		

NAME	YEAR	SOURCE	ADVOCACY EXPENDITURES	SELE: 2008	
Coalition to Stop Gun Violence	2009	501(c)(3) 2009 IRS Form 990, Total Expenses, and 501(c)(4) 2009 IRS Form 990, Total Expenses	\$533,758		х
	2009	501(c)(4) 2009 IRS Form 990, Total Expenses	\$214,437		
	2009	501(c)(3) 2009 IRS Form 990, Total Expenses	\$319,321		
	2008	501(c)(4) 2008 IRS Form 990, Total Expenses, and 501(c)(3) 2008 IRS Form 990, Total Expenses	\$639,454	x	
	2008	501(c)(4) 2008 IRS Form 990, Total Expenses	\$226,073		•
	2008	501(c)(3) 2008 IRS Form 990, Total Expenses	\$413,381		
Concerned Women for America	2009	501(c)(3) 2009 IRS Form 990, Total Expenses, and 501(c)(4) 2009 IRS Form 990, Total Expenses	\$12,556,658		x
	2009	501(c)(3) 2009 IRS Form 990, Total Expenses	\$11,643,901		
	2009	501(c)(4) 2009 IRS Form 990, Total Expenses	\$912,757		
	2008	501(c)(3) 2008 IRS Form 990, Total Expenses, and 501(c)(4) 2008 IRS Form 990, Total Expenses	\$14,272,684	x	
	2008	501(c)(3) 2008 IRS Form 990, Total Expenses	\$12,702,747		
	2008	501(c)(4) 2008 IRS Form 990, Total Expenses	\$1,569,937		
Council for Christian Colleges & Universities	2008	2008 IRS Form 990, Total Expenses	\$12,064,759		
Culture of Life Foundation	2009	2009 IRS Form 990, Total Expenses	\$201,139		x
	2008	2008 IRS Form 990, Total Expenses	\$309,728	x	••••
Dalit Freedom Network	2009	2009 IRS Form 990, Total Expenses	\$2,345,285		
	2009	2009 IRS Form 990, Social Justice Expenses	\$108,096		x
	2008	2008 IRS Form 990, Total Expenses	\$3,079,936		
	2008	2008 IRS Form 990, Social Justice	\$522,787	x	
Disciples Justice Action Network	2009	2009 IRS Form 990, Total Expenses	\$77,554		X
Discovery Institute	2009	2009 IRS Form 990, Total Expenses	\$4,530,575		
	2009	2009 IRS Form 990, Total Lobbying Expenditures	\$3,561		
	2008	2008 IRS Form 990, Total Expenses	\$4,466,701		
	2008	2008 IRS Form 990, Total Lobbying Expenditures	\$10,004		
Eagle Forum	2009	501(c)(3) 2009 IRS Form 990, Total Expenses, and 501(c)(4) 2009 IRS Form 990, Total Expenses	\$2,253,210		x
	2009	501(c)(4) 2009 IRS Form 990, Total Expenses	\$1,176,902		
	2009	501(c)(3) 2009 IRS Form 990, Total Expenses	\$1,076,308		
	2008	501(c)(4) 2008 IRS Form 990, Total Expenses, and 501(c)(3) 2008 IRS Form 990, Total Expenses	\$1,785,712	x	
	2008	501(c)(4) 2008 IRS Form 990, Total Expenses	\$939,645		
	2008	501(c)(3) 2008 IRS Form 990, Total Expenses	\$846,067		

NAME	YEAR	SOURCE	ADVOCACY EXPENDITURES		CTED 2009
Episcopal Church	2009	2009 Budgetary Summary, Total Expenses	\$56,850,908		
	2009	2009 Budgetary Summary, Advocacy Center Expenses	\$2,298,430		x
	2009	2008 Budgetary Summary, Total Expenses	\$53,679,412		
	2008	2008 Budgetary Summary, Advocacy Center Expenses	\$2,165,865	х	
Ethics and Public Policy Center	2009	2009 IRS Form 990, Total Expenses	\$2,750,452		x
	2008	2008 IRS Form 990, Total Expenses	\$2,884,327	х	
Evangelical Environmental Network	2009	2009 IRS Form 990, Total Expenses	\$471,253		x
	2008	2008 IRS Form 990, Total Expenses	\$1,152,648	x	
Evangelical Lutheran Church in America		2010-2011 Budget Proposal, Total Church in Society	\$7,432,020		
	2008	2008-2009 Budget Proposal, Total Church in Society	\$7,823,390		
	2008	2008-2009 Budget Proposal, Church in Society Unit, Advocacy Expense Proposal	\$1,173,030	x	
Faith and Politics Institute	2009	2009 IRS Form 990, Total Expenses	\$1,076,996		x
	2008	2008 IRS Form 990, Total Expenses	\$1,114,174	х	
Faith in Public Life	2009	501(c)(3) 2009 IRS Form 990, Total Expenses, and 501(c)(4) 2009 IRS Form 990, Total Expenses	\$1,331,397		×
	2009	501(c)(3) 2009 IRS Form 990, Total Expenses	\$1,090,108		
	2009	501(c)(4) 2009 IRS Form 990, Total Expenses	\$241,289		
	2008	501(c)(3) 2008 IRS Form 990, Total Expenses	\$1,176,606		
Family Research Council	2008	501(c)(3) 2008 IRS Form 990, Total Expenses, and 501(c)(4) 2008 IRS Form 990, Total Expenses	\$14,259,622	X	
	2008	501(c)(3) 2008 IRS Form 990, Total Expenses	\$12,254,918		
	2008	501(c)(4) 2008 IRS Form 990, Total Expenses	\$2,004,704		
Fellowship Foundation Inc.	2009	2009 IRS Form 990, Total Expenses	\$15,381,387		
	2008	2008 IRS Form 990, Total Expenses	\$17,699,631		
Franciscan Action Network	2009	2009 IRS Form 990, Total Expenses	\$241,384		x
	2008	2008 Form 990, Total Expenses	\$259,414	x	
Friends Committee on National Legislation	2009	2009-2010 Annual Report, Total Expenses, 2010 Combined	\$3,010,831		x
	2009	2009-2010 501(c)(4) Annual Report, Total Expenses	\$1,780,305		
	2009	2009-2010 501(c)(3) Annual Report, Total Expenses	\$1,230,526		
	2008	501(c)(3) 2008 IRS Form 990, Total Expenses, and 501(c)(4) 2008 IRS Form 990, Total Expenses	\$3,510,447	Х	
	2008	501(c)(4) 2008 IRS Form 990, Total Expenses	\$1,635,062		
	2008	501(c)(3) 2008 IRS Form 990, Total Expenses	\$1,875,385		

NAME	YEAR	SOURCE	ADVOCACY EXPENDITURES	SELECTE 2008 20	
	2008	2008-2009 501(c)(4) Annual Report, Total Expenses = \$1,635,062; 2008-2009 501(c)(3) Annual Report, Total Expenses = \$1,875,385	\$3,510,447		
	2008	2008-2009 501(c)(4) Annual Report, Total Expenses	\$1,635,062		
	2008	2008-2009 501(c)(3) Annual Report, Total Expenses	\$1,875,385		
Habitat for Humanity International	2008	2008 IRS Form 990, Total Expenses	\$266,223,178		
	2008	2008 IRS Form 990, Schedule C, Part II-B, Line j	\$525,000	x	
Hadassah Womon's Zionist	2009	2009 IRS Form 990, Total Expenses	\$36,678,312		
Hadassah, Women's Zionist Organization of America	2009	2009 IRS Form 990, Total Lobbying Expenditures	\$75,351	:	x
	2009	Hadassah Foundation 2009 IRS Form 990, Total Expenditures	\$568,230		
	2009	Hadassah Medical Relief Association 2009 IRS Form 990, Total Expenditures	\$75,373,246		
Hebrew Immigrant Aid Society	2009	2009 Summary Report, 2009 Budget	\$22,990,000	······································	
	2008	2008 Summary Report, 2008 Budget	\$24,129,335		
	2008	2009 Annual Report, 2008 Total Expenses	\$26,368,000		
Heritage Foundation, DeVos Center for Religion and Civil Society*	2009	2009 Budget, Total Expenses; Personal Correspondence with Representative	\$1,743,450		x
	2008	2008 Budget, Total Expenses; Personal Correspondence with Representative	\$983,758	х	
Hindu American Foundation	2009	2009 IRS Form 990, Total Expenses	\$449,148		X
	2008	2008 IRS Form 990, Total Expenses	\$423,926	×	
Home School Legal Defense Association	2009	501(c)(3) 2009 IRS Form 990, Total Expenses, and 501(c)(4) 2009 IRS Form 990, Total Expenses	\$11,320,831		x
	2009	501(c)(4) 2009 IRS Form 990 ,Total Expenses	\$10,037,071		
	2009	501(c)(3) 2009 IRS Form 990, Total Expenses	\$1,283,760		
	2008	501(c)(4) 2008 IRS Form 990, Total Expenses, and 501(c)(3) 2008 IRS Form 990, Total Expenses	\$11,135,507	х	
	2008	501(c)(4) 2008 IRS Form 990, Total Expenses	\$9,851,538		
	2008	501(c)(3) 2008 IRS Form 990, Total Expenses	\$1,283,969	·····	
Hudson Institute	2008	2008 IRS Form 990, Total Expenses	\$11,852,015		
Human Life International	2009	2009 IRS Form 990, Total Expenses	\$3,834,470		x
	2008	2008 IRS Form 990, Total Expenses	\$3,745,128	х	
Human Rights Campaign	2009	501(c)(4) 2009 IRS Form 990, Total Expenses	\$25,051,344	<u> </u>	
	2009	501(c)(3) 2009 IRS Form 990, Total Expenses	\$7,752,996		
	2008	501(c)(4) 2008 IRS Form 990, Total Expenses	\$32,024,192		
	2008	501(c)(3) 2008 IRS Form 990, Total Expenses	\$9,661,104		
Institute for Global Engagement	2009	2009 IRS Form 990, Total Expenses	\$2,024,557		
	2008	2008 IRS Form 990, Total Expenses	\$1,506,380		

NAME	YEAR	SOURCE	ADVOCACY EXPENDITURES		2009
Institute for Social Policy and Understanding*	2009	2010 Annual Report, 2009 Total Functional Expenses	\$337,237		x
	2008	2009 Annual Report, 2008 Total Functional Expenses	\$308,022	x	
Institute on Religion & Democracy	2009	2009 IRS Form 990, Total Expenses	\$905,034		x
	2008	2008 IRS Form 990, Total Expenses	\$2,007,297	x	
Institutional Religious Freedom Alliance	2009	2009 IRS Form 990, Total Expenses	\$44,942		
	2009	2009 IRS Form 990, Public Education for Public Officials and Staff Expenses	\$6,130		x
Interfaith Alliance	2009	501(c)(3) 2009 IRS Form 990, Total Expenses, and 501(c)(4) 2009 IRS Form 990, Total Expenses	\$2,150,903		х
	2009	501(c)(4) 2009 IRS Form 990, Total Expenses	\$486,323		
	2009	501(c)(3) 2009 IRS Form 990, Total Expenses	\$1,664,580		
	2008	501(c)(4) 2008 IRS Form 990, Total Expenses, and 501(c)(3) 2008 IRS Form 990, Total Expenses	\$3,672,945	x	
	2008	501(c)(4) 2008 IRS Form 990, Total Expenses	\$2,244,290		
	2008	501(c)(3) 2008 IRS Form 990, Total Expenses	\$1,428,655		
Interfaith Peace-Builders	2008	2008 IRS Form 990, Total Expenses	\$254,434	х	
International Campaign for Tibet	2009	2009 IRS Form 990, Total Expenses	\$4,200,605		x
	2009	2009 IRS Form 990, Total Lobbying Expenditures	\$347,177		
	2009	2009 IRS Form 990, Education and Awareness	\$447,163		
	2009	2009 IRS Form 990, Government Relations	\$329,443		
	2009	2008-2009 Financial Statements, Total Expenses	\$4,200,605		
	2009	2008-2009 Financial Statements, Government Relations	\$347,177		
	2009	2008-2009 Financial Statements, Education and Awareness	\$471,234		
	2008	2008 IRS Form 990, Total Expenses	\$5,293,270	x	
	2008	2008 IRS Form 990, Total Lobbying Expenditures	\$54,246		
	2008	2008 IRS Form 990, Goverment Relations	\$375,770		
	2008	2008 IRS Form 990, Education and Awareness	\$595,356		
	2008	2007-2008 Financial Statements, Total Expenses	\$5,293,270		
	2008	2007-2008 Financial Statements, Government Relations	\$394,169		
International Catholic Migration Commission, Inc., USA	2008	Organization website, Total Expenditures	\$21,690,000		•
International Center for Religion and Diplomacy	2008	2008 IRS Form 990, Total Expenses	\$971,564		

NAME	YEAR	SOURCE	ADVOCACY EXPENDITURES		2009
International Christian Concern	2009	2009 IRS Form 990, Total Expenses	\$873,786		x
	2008	2008 IRS Form 990, Total Expenses	\$727,829	х	
International Justice Mission	2009	2009 IRS Form 990, Total Expenses	\$21,880,545		
	2009	2009 IRS Form 990, Lobbying Expenses, Part II-b, line j	\$25,113		
	2009	2009 Annual Report, Total Expenses	\$22,655,206		
	2009	2009 Annual Report, Education	\$3,148,339		
	2008	2008 IRS Form 990, Total Expenses	\$19,877,231		
	2008	2008 IRS Form 990, Lobbying Expenses, Part II-b, line j	\$939		
	2008	2008 Annual Report, Total Expenses	\$20,681,070		<u> </u>
	2008	2008 Annual Report, Education	\$2,856,907		
International Uyghur Human Rights	2009	2009 IRS Form 990, Total Expenses	\$211,377		x
and Democracy Foundation	2008	2008 IRS Form 990, Total Expenses	\$100,305	х	
J Street	2008	501(c)(3) 2008 IRS Form 990, Total Expenses, and 501(c)(4) 2008 IRS Form 990, Total Expenses	\$1,214,009	x	
	2008	501(c)(4) 2008 IRS Form 990, Total Expenses	\$1,091,245		
	2008	501(c)(3) 2008 IRS Form 990, Total Expenses	\$122,764		
Jesuit Refugee Service/USA	2009	2010 Annual Report, Total Expenses	\$2,686,480		
	2009	2010 Annual Report, Advocacy and Communications Expenses	\$380,826		x
	2008	2009 Annual Report, Total Expenses	\$2,204,588		
	2008	2009 Annual Report, Advocacy & Communications Expenses	\$294,053	х	
Jewish Council for Public Affairs	2009	2009 IRS Form 990, Total Expenses	\$2,624,565		х
	2008	2008 IRS Form 990, Total Expenses	\$3,201,363	х	
Jewish Federations of North America	2008	2008 IRS Form 990, Total Expenses	\$57,096,467		
	2008	2008 IRS Form 990, Total Lobbying Expenditures	\$753,668	х	
Jewish Funds for Justice	2008	2008 IRS Form 990, Total Expenses	\$6,469,197		
Jewish Institute for National Security	2009	2009 IRS Form 990, Total Expenses	\$3,109,507		x
Affairs	2008	2008 IRS Form 990, Total Expenses	\$4,006,098	х	
Jewish Policy Center	2009	2009 IRS Form 990, Total Expenses	\$533,459		х
	2008	2008 IRS Form 990, Total Expenses	\$602,261	х	
Jewish War Veterans of the United	2008	2008 IRS Form 990, Total Expenses	\$2,544,025		
States of America	2008	2008 IRS Form 990, Publications and Public Relations Expenses	\$88,435	x	
Jewish Women International	2008	2008 IRS Form 990, Total Expenses	\$2,743,514		
Jubilee Campaign USA	2009	2009 IRS Form 990, Total Expenses	\$216,905		x
	2008	2008 IRS Form 990, Total Expenses	\$351,193	х	
Jubilee USA Network	2009	2009 IRS Form 990, Total Expenses	\$430,561		x
	2008	2008 IRS Form 990, Total Expenses	\$517,977	х	

NAME	YEAR	SOURCE	ADVOCACY EXPENDITURES		2009
Karamah, Muslim Women Lawyers	2009	2009 IRS Form 990, Total Expenses	\$620,761		x
for Human Rights	2008	2008 IRS Form 990, Total Expenses	\$388,924	х	
Kashmiri-American Council	2009	2009 IRS Form 990, Total Expenses	\$332,706		х
	2008	2008 IRS Form 990, Total Expenses	\$291,807	x	
Liberty Counsel	2009	501(c)(4) 2009 IRS Form 990, Total Expenses	\$350,434		
	2008	501(c)(4) 2008 RIS Form 990, Total Expenses	\$374,494		
Lutheran Immigration and Refugee	2009	2009 IRS Form 990, Total Expenses	\$31,751,148		
Service	2009	2009 IRS Form 990, Immigration Justice	\$781,038		
	2009	2008-2009 Financial Statements, Total Expenses	\$31,759,681		
	2008	2009 IRS Form 990, Prior Year Total Expenses	\$27,160,729		
	2008	2008-2009 Financial Statements, Total Expenses	\$27,160,729		
Lutheran Services in America	2009	2009 IRS Form 990, Total Expenses	\$2,063,642		
	2009	2010 Annual Report, Total Expenses	\$2,063, 642		
	1	2008 IRS Form 990, Total Expenses	\$2,519,418		
	2008	2009 Annual Report, Total Expenses	\$2,519,418		
Lutheran World Relief*	2009	2009 IRS Form 990, Total Expenses	\$37,106,746		
	2009	2009 IRS Form 990, Schedule C, Part II-B, Line j	\$9,655		
	2009	2010 Financial Statements, Total Expenses	\$37,106,746		
	2009	2010 Financial Statements, Faith in Action (Education and Public Policy)	\$3,123,530		
	2009	2010 Annual Report, Communication, Education & Public Policy	\$3,058,000		
	2009	Internal Accounting Data, Expenses, Public Policy; Personal Correspondence with Representative	\$296,676		×
	2008	2008 IRS Form 990, Total Expenses	\$36,540,543		
	2008	2008 IRS Form 990, Statement of Functional Expenses, Lobbying	\$16,385		
	2008	2008 IRS Form 990, Schedule C, Part II-B, Line j	\$14,312		
	2008	2009 Financial Statements, Total Expenses	\$36,540,543		
		2009 Financial Statements, Faith in Action (Education and Public Policy)	\$2,498,208		
	2008	2009 Annual Report, Total Expenses	\$36,540,543		ļ
		2009 Annual Report, Communication, Education & Public Policy			
	2008	Internal Accounting Data, Expenses, Public Policy; Personal Correspondence with Representative	\$487,818	x	<u></u>
March For Life Education and Defense	2009	2009 IRS Form 990, Total Expenses	\$206,266		x
Fund		2008 IRS Form 990, Total Expenses	\$202,208	×	İ

NAME	YEAR	SOURCE	ADVOCACY EXPENDITURES		2009
Mennonite Central Committee	2009	2009 Annual Report, Total Expenses	\$69,506,000		
	2009	2010 Annual Report, U.S. Program, Peace and Justice Expenses	\$1,428,000		х
	2008	2008 Annual Report, Total Epenses	\$73,754,000		
	2008	2008 Annual Report, Peace and Justice	\$1,495,000	x	
Methodist Federation for Social Action	2009	2009 IRS Form 990, Total Expenses	\$335,942		x
Minaret of Freedom Institute	2009	2009 IRS Form 990, Total Expenses	\$103,836		x
	2008	2008 IRS Form 990, Total Expenses	\$112,126	x	
Missionary Society of St. Columban, Columban Center for Advocacy and Outreach	2009	Organization website, Total Expenses	\$11,933,966		
Muslim American Society	2009	2009 IRS Form 990, Total Expenses	\$3,992,555		x
	2008	2008 IRS Form 990, Total Expenses	\$3,093,874	x	
Muslim Public Affairs Council	2009	501(c)(3) 2009 IRS Form 990, Total Expenses, and 501(c)(4) 2009 IRS Form 990, Total Expenses	\$2,912,022		х
	2009	501(c)(4) 2009 IRS Form 990, Total Expenses	\$1,073,906		
	2009	501(c)(3) 2009 IRS Form 990, Total Expenses	\$1,838,116		
		501(c)(4) 2008 IRS Form 990, Total Expenses, and 501(c)(3) 2008 IRS Form 990, Total Expenses	\$2,624,327	х	
	2008	501(c)(4) 2008 IRS Form 990, Total Expenses	\$1,177,924		
	2008	501(c)(3) 2008 IRS Form 990, Total Expenses	\$1,466,403		
National Advocacy Center of the Sisters	2009	2009 IRS Form 990, Total Expenses	\$39,698		х
of the Good Shepherd	2008	2008 IRS Form 990, Total Expenses	\$34,146	х	
National Association of Evangelicals*	2009	Evangelical Council for Financial Accountability Financial Statements, 2009 Total Expenses	\$1,026,565		
	2009	Government Affairs and Public Policy; Personal Correspondence with Representative	\$150,000		
	2008	Evangelical Council for Financial Accountability Financial Statements, 2008 Total Expenses	\$978,367		
National Coalition to Abolish	2009	2009 IRS Form 990, Total Expenses	\$1,165,933		х
the Death Penalty	2008	2008 IRS Form 990, Total Expenses	\$1,155,006	х	
National Committee for a Human Life	2009	2009 IRS Form 990, Total Expenses	\$796,416		x
Amendment	2008	2008 IRS Form 990, Total Expenses	\$645,294	x	
NCSJ: Advocates on behalf of Jews in	2009	2009 IRS Form 990, Total Expenses	\$854,185		
Russia, Ukraine, the Baltic States & Eurasia	2009	2009 IRS Form 990, Advocacy, Public Information and Education Expenses	\$354,809		x
	2009	2009 IRS Form 990, Total Lobbying Expenditures	\$10,644		
	2008	2008 IRS Form 990 Total Expenses	\$831,662		
	2008	2008 IRS Form 990, Advocacy, Public Information and Education	\$308,751	х	
	2008	2008 IRS Form 990, Total Lobbying Expenditures	\$9,263		

NAME	YEAR	SOURCE	ADVOCACY EXPENDITURES		CTED 2009
National Council of Catholic Women	2009	2009 IRS Form 990, Total Expenses	\$1,297,826		
	2008	2009 IRS Form 990, Total Expenses	\$971,465		
	2008	2008 Annual Report, Total Expenses	\$972,359		
National Council of Churches of Christ in the USA	2009	2009-2010 Annual Report, Mission Program & Administration	\$5,405,679		
	2008	2008-2009 Annual Report, Mission Program & Administration	\$5,995,119		
National Council of Jewish Women	2009	2009 IRS Form 990, Total Expenses	•		
	2009	2009 IRS Form 990, Total Lobbying Expenditures	\$13,673		x
	2008	2008 IRS Form 990, Total Expenses			
	2008	2008 IRS Form 990, Total Lobbying Expenditures	\$15,409	x	
National Institute of Family and Life	2009	2009 IRS Form 990, Total Expenses	\$759,259		х
Advocates	2008	2008 IRS Form 990, Total Expenses	\$855,463	x	
National Jewish Democratic Council	2009	2009 IRS Form 990, Total Expenses	\$1,232,051		х
	2008	2008 IRS Form 990, Total Expenses	\$1,752,486	х	
National Organization for Marriage	2009	501(c)(3) 2009 IRS Form 990, Total Expenses, and 501(c)(4) 2009 IRS Form 990, Total Expenses	\$8,594,845		×
	2009	501(c)(4) 2009 IRS Form 990, Total Expenses	\$7,478,438		
	2009	501(c)(3) 2009 IRS Form 990, Total Expenses	\$1,116,407		
	2008	501(c)(3) 2008 IRS Form 990, Total Expenses, and 501(c)(4) 2008 IRS Form 990, Total Expenses	\$3,295,804	Х	
	2008	501(c)(4) 2008 IRS Form 990, Total Expenses	\$2,969,290		
	2008	501(c)(3) 2008 IRS Form 990, Total Expenses	\$326,514		
National Religious Broadcasters	2009	2009 IRS Form 990, Total Expenses	\$3,568,534		
	2009	2009 IRS Form 990, Total Lobbying Expenditures	\$62,574		x
	2008	2008 IRS Form 990, Total Expenses	\$4,016,356		
	2008	2008 IRS Form 990, Total Lobbying Expenditures	\$56,196	х	
National Religious Campaign Against	2009	501(c)(3) 2009 IRS Form 990, Total Expenses	\$723,726		
Torture	2008	501(c)(3) 2008 IRS Form 990, Total Expenses, and 501(c)(4) 2008 IRS Form 990, otal Expenses	\$826,055	х	
	2008	501(c)(3) 2008 IRS Form 990, Total Expenses	\$740,421		ļ
	2008	501(c)(4) 2008 IRS Form 990, Total Expenses	\$85,634		
National Religious Partnership for the Environment		2009 IRS Form 990, Lobbying Nontaxable Amount	\$242,953		x
	2008	2008 IRS Form 990, Lobbying Nontaxable Amount	\$291,765	x	

NAME	YEAR	SOURCE	ADVOCACY EXPENDITURES	SELE 2008	
National Right to Life Committee	2009	501(c)(3) 2009 IRS Form 990, Total Expenses, and 501(c)(4) 2009 IRS Form 990, Total Expenses	\$11,356,907		x
	2009	501(c)(4) 2009 IRS Form 990 Total Expenses	\$9,186,543		
	2009	501(c)(3) 2009 IRS Form 990, Total Expenses	\$2,170,364		
	2008	501(c)(4) 2008 IRS Form 990, Total Expenses, and 501(c)(3) 2008 IRS Form 990, Total Expenses	\$12,719,116	X	
	2008	501(c)(4) 2008 IRS Form 990, Total Expenses	\$10,504,844		
	2008	501(c)(3) 2008 IRS Form 990, Total Expenses	\$2,214,272		
NETWORK	2009	501(c)(3) 2009 IRS Form 990, Total Expenses, and 501(c)(4) 2009 IRS Form 990, Total Expenses	\$998,659		х
	2009	501(c)(4) 2009 IRS Form 990, Total Expenses	\$828,417		
	2009	501(c)(3) 2009 IRS Form 990, Total Expenses	\$170,242		
	2008	$501(c)(4)\ 2008\ Form\ 990$, Total Expenses, and $501(c)(3)\ 2008\ IRS\ Form\ 990$, Total Expenses	\$1,154,457	х	
	2008	501(c)(4) 2008 IRS Form 990, Total Expenses	\$950,803		
	2008	501(c)(3) 2008 IRS Form 990, Total Expenses	\$203,654		
 	2009	2009 IRS Form 990, Total Expenses	\$904,474		
	2009	2009 Annual Report, Total Expenses	\$911,702		
	2008	2008 IRS Form 990, Total Expenses	\$1,067,012		
	2008	2008 Annual Report, Total Expenses	\$1,119,538		
People For the American Way	2009	501(c)(3) 2009 IRS Form 990, Total Expenses, and 501(c)(4) 2009 IRS Form 990, Total Expenses	\$7,799,786		x
	2009	501(c)(4) 2009 IRS Form 990, Total Expenses	\$2,625,107		
	2009	501(c)(3) 2009 IRS Form 990, Total Expenses	\$5,174,679		
	2008	501(c)(4) 2008 IRS Form 990, Total Expenses, and 501(c)(3) 2008 IRS Form 990, Total Expenses	\$12,341,380	Х	
	2008	501(c)(4) 2008 IRS Form 990, Total Expenses	\$3,686,857		
	2008	501(c)(3) 2008 IRS Form 990, Total Expenses	\$8,654,523		
PICO National Network	2009	2009 IRS Form 990, Total Expenses	\$8,952,693		
	2009	2009 IRS Form 990, Total Lobbying Expenditures	\$165,480		x
	2008	2008 IRS Form 990, Total Expenses	\$7,407,584		
	2008	2008 IRS Form 990, Total Lobbying Expenditures	\$64,398	х	
Presbyterian Church (USA)	2009	2009 Annual Report, Total Expenditures	\$86,085,504		
	2009	2009 Annual Report, Compassion, Peace and Justice, Total Expenses	\$17,474,155		
2	2009	2009 Annual Report, Compassion, Peace and Justice, UN & Washington Office	\$546,291		x

NAME	YEAR	SOURCE	ADVOCACY EXPENDITURES		2009
	2008	2008 Annual Report, Total Expenditures	\$94,187,351		
	2008	2008 Annual Report, Compassion, Peace and Justice, Total Expenses	\$19,287,552		
	2008	2008 Annual Report, Compassion, Peace and Justice, UN & Washington Office	\$576,030	x	
Prison Fellowship, Justice Fellowship	2008	2008 IRS Form 990, Total Expenses	\$43,293,128		
	2008	2008 IRS Form 990, Total Lobbying Expenditures	\$31,738		
Quixote Center	2008	2008 IRS Form 990, Total Expenses	\$930,817	x	
Religious Action Center of Reform Judaism	2009	2009 Union for Reform Judaism Budget, Religious Action Center Total Expenditures and Conferences and Seminars Expenditures	\$2,927,543		х
	2009	2009 Union for Reform Judaism Budget, Religious Action Center Total Expenditures	\$1,857,538		
	2009	2009 Union for Reform Judaism Budget, Conferences and Seminars	\$1,070,005		
	2008	2008 Union for Reform Judaism Budget, Religious Action Center Total Expenditures and Conferences and Seminars Expenditures	\$2,801,000	X	
	2008	2008 Union for Reform Judaism Budget, Religious Action Center Total Expenditures	\$1,856,000		
	2008	2008 Union for Reform Judaism Budget, Conferences and Seminars	\$945,000		
Religious Coalition for Reproductive Choice	2009	501(c)(3) 2009 IRS Form 990, Total Expenses, and 501(c)(4) 2009 IRS Form 990, Total Expenses	\$3,416,168		х
	2009	501(c)(4) 2009 IRS Form 990, Total Expenses	\$434,969		
	2009	501(c)(3) 2009 IRS Form 990, Total Expenses	\$2,981,199		
	2008	501(c)(4) 2008 IRS Form 990, Total Expenses, and 501(c)(3) 2008 IRS Form 990, Total Expenses	\$5,801,659	Х	
	2008	501(c)(4) 2008 IRS Form 990, Total Expenses	\$555,649		
	2008	501(c)(3) 2008 IRS Form 990, Total Expenses	\$3,390,010		
Religious Freedom Coalition	2009	2009 IRS Form 990, Total Expenses	\$436,110		х
	2008	2008 IRS Form 990, Total Expenses	\$531,126	х	
Republican Jewish Coalition	2009	2009 IRS Form 990, Total Expenses	\$2,858,109		x
	2008	2008 IRS Form 990, Total Expenses	\$6,521,230	x	
Salvation Army	2008	2010 Financial Summary, Total Expenses	\$3,115,737,000		
Salvation Army World Service Office	2009	2009 IRS Form 990, Total Expenses	\$24,309,300		
	2008	2008 IRS Form 990, Total Expenses	\$35,880,939		
Save Darfur Coalition	2008	2008 IRS Form 990, Total Expenses	\$5,441,228	x	
;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;	2008	2008 IRS Form 990, Total Lobbying Expenditures	\$134,168		

NAME	YEAR	SOURCE	ADVOCACY EXPENDITURES	SELE 2008	
Secular Coalition for America	2009	501(c)(3) 2009 IRS Form 990, Total Expenses, and 501(c)(4) 2009 IRS Form 990, Total Expenses	\$348,170		х
	2009	501(c)(4) 2009 IRS Form 990, Total Expenses	\$346,308		
	2009	501(c)(3) 2009 IRS Form 990, Total Expenses	\$1,862		
	2008	501(c)(4) 2008 IRS Form 990, Total Expenses	\$273,843	x	
Sikh American Legal Defense	2009	2009 IRS Form 990, Total Expenses	\$131,514		x
and Education Fund	2008	2008 IRS Form 990, Total Expenses	\$111,992	x	
Sojourners	2008	2008 IRS Form 990, Total Expenses	\$5,532,140	x	
Southern Baptist Convention, The Ethics & Religious Liberty Commission	2008	2010 Southern Baptist Convention Annual Publication, Ethics & Religious Liberty Commission, Total Expenses		x	
Susan B. Anthony List	2009	2009 IRS Form 990, Total Expenses	\$2,837,834		×
	2008	2008 IRS Form 990, Total Expenses	\$5,080,929	x	
Traditional Values Coalition	2009	501(c)(3) 2009 IRS Form 990, Total Expenses, and 501(c)(4) 2009 IRS Form 990, Total Expenses	\$9,542,126		х
	2009	501(c)(4) 2009 IRS Form 990, Total Expenses	\$9,342,157		
	2009	501(c)(3) 2009 IRS Form 990, Total Expenses	\$199,969		
	2008	501(c)(4) 2008 IRS Form 990, Total Expenses, and 501(c)(3) 2008 IRS Form 990, Total Expenses	\$9,268,057	x	
	2008	501(c)(3) 2008 IRS Form 990, Total Expenses	\$175,936		
	2008	501(c)(4) 2008 IRS Form 990, Total Expenses	\$9,092,121		
Unitarian Universalist Service	2009	2009 IRS Form 990, Total Expenses	\$5,508,024		
Committee	2009	2009 IRS Form 990, Total Lobbying Expenditures	\$6,000		
	2009	2010 Annual Report, Total Expenses	\$5,639,883		
	2009	2010 Annual Report, Total Program Services Expenses	\$4,550,828		x
	2009	2010 Annual Report, Civil Liberties	\$935,428		•••••
	2009	2010 Annual Report, Economic Justice	\$1,169,283		•
	2009	2010 Annual Report, Environmental Justice	\$1,792,902		•
	2009	2010 Annual Report, Rights in Humanitarian Crises	\$653,215		
		2008 IRS Form 990, Total Expenses	\$6,308,589		
		2008 IRS Form 990, Total Lobbying Expenditures	\$6,135		•
	2008	2009 Annual Report, Total Expenses	\$6,253,154		•
	2008	2009 Annual Report, Total Program Services	\$4,984,878	x	
	2008	2009 Annual Report, Civil Liberties	\$1,465,135		
	2008	2009 Annual Report, Economic Justice	\$1,455,039		
	2008	2009 Annual Report, Civil Liberties	\$1,465,135		
	2008	2009 Annual Report, Rights in Humanitarian Crises	\$388,497		•

NAME	YEAR	SOURCE	ADVOCACY EXPENDITURES		CTED 2009
United Church of Christ, Justice and Witness Ministries	2009	2009 Annual Report, Total Expenses	\$30,114,819		
	2009	2009 Annual Report, Justice and Witness Ministries	\$3,994,753		х
	2008	2008 Annual Report, Total Expenses	\$29,551,150		
	2008	2008 Annual Report, Justice and Witness Ministries	\$3,807,080	x	
United Methodist Church, The General Board of Church & Society	2009	2008-2009 Financial Statements, Total Expenses	\$5,425,236		x
	2008	2007-2008 Financial Statements, 2008 Total Expenses	\$6,006,690	x	
United States Conference of Catholic	2009	2008-2009 Consolidated Financial Statements, Total Operating Expenses	\$143,004,802		
Bishops*	2009	2008-2009 Consolidated Financial Statements, Policy Activities Expenses	\$26,662,111		
	2009	Advocacy; Personal Correspondence with Representative	\$1,000,000		
	2008	2008-2009 Consolidated Financial Statements, Total Operating Expenses	\$160,285,503		
	2008	2008-2009 Consolidated Financial State- ments, Policy Activities Expenses	\$25,270,631		
Uyghur American Association	2008	2008 IRS Form 990, Total Expenses	\$321,639		
Volunteers of America	2008	2008 IRS Form 990, Total Expenses	\$907,738,422		
	2008	2008 IRS Form 990, Schedule C, Part II-b, Line j	\$194,971	х	
Witness for Peace	2009	2009 IRS Form 990, Total Expenses	\$833,055		х
	2008	2008 IRS Form 990, Total Expenses	\$993,317	x	
World Hope International	2009	2009 IRS Form 990, Total Expenses	\$14,200,814		
	2009	2009 Financial Statements, Total Expenses	\$14,863,445		
	2009	Consolidated Financial Statements for the Year Ended Dec. 31, 2009, Public Awareness and Education	\$379,537		x
	2008	2008 IRS Form 990, Total Expenses	\$15,487,660		
	2008	2007-2008 Financial Statements, Total Expenses	\$15,846,226		•
	2008	2007-2008 Financial Statements, Public Awareness and Education	\$427,238	х	
World Organization for Resource	2009	2009 IRS Form 990, Total Expenses	\$28,523		х
Development & Education	2008	2008 IRS Form 990, Total Expenses	\$5,885	x	
World Relief	2008	2008 IRS Form 990, Total Expenses	\$54,092,721		

NAME	YEAR	SOURCE	ADVOCACY EXPENDITURES	SELE 2008	
World Vision	2009	2009-2010 Consolidated Financial Statements, Total Operating Expenses	\$1,002,320,000		
	2009	2009-2010 Consolidated Financial Statements, 2010 Public Awareness and Education Expenses	\$6,950,000		x
	2008	2008-2009 Consolidated Financial Statements, Total Operating Expenses	\$1,206,392,000		
	2008	2008-2009 Consolidated Financial Statements, Public Awareness and Education Expenses	\$7,638,000	X	
	2008	2008 IRS Form 990, Total Expenses	\$1,205,887,020		
200	2008	2008 IRS Form 990, Total Lobbying Expenditures	\$136,265		

Changes in the May 2012 Update

In response to feedback on the November 2011 report, the Pew Forum added five new groups, deleted one group and modified the expenditure figures for a few groups. (The Pew Forum was not able to obtain annual advocacy expenditures for three of the five new groups, so those groups are not included here.) In addition, Pew Forum researchers again reviewed the annual advocacy expenditures for some international relief organizations. As the Methodology notes, these groups typically do not itemize their advocacy expenses. Researchers therefore sought to identify budget categories that reflect spending by these groups to educate policymakers, constituents and the public, such as "public awareness and education." Upon further review, researchers determined that some expenditure categories should be changed in the new edition of the report. All changes to expenditures are indicated in the list above with an asterisk and explained below.

Barnabas Aic

In its review of some international relief organizations, the Pew Forum determined that a significant portion of what had been included as advocacy expenses for this group in the November 2011 report (\$1,002,792 in 2009 and \$653,569 in 2008 for "Program Service Expenses") were funds for direct grants to support Christian organizations outside the U.S. No other expense category appropriately fits the report's broad definition of religion-related advocacy, so no expenditure data for this group have been selected for analysis in the May 2012 report.

Catholic Relief Services

Under the decision rules used in the November 2011 report, the group's "Public Awareness" expenditures were selected for the analysis (\$4,673,000 for 2009 and \$4,220,000 for 2008). Catholic Relief Services questioned the figures and provided the Pew Forum with a report from its internal budget database showing that its expenditures for "Policy and Advocacy" for 2009 were \$835,796. The group also reported that it has five regional staffers who directly support the organization's advocacy activities and that the total salary for these individuals is about \$300,000. These figures were combined and the total (\$1,135,796) was selected for the expenditures analysis in the May 2012 report.

Church World Service

"Education and Advocacy" expenditures data for 2009 were not available for the November 2011 report, so the Pew Forum used Church World Service's 2008 figure (\$2,928,739) for the expenditures analysis. During its further review of some international relief organizations, the Pew Forum contacted Church World Service and asked for more information. The group informed the Pew Forum that its annual advocacy expenditures for 2009 were available in its audited financial statements. As a result, the 2009 expenditure figure has been added and selected for analysis in the May 2012 report.

Heritage Foundation, DeVos Center for Religion and Civil Society

The Heritage Foundation's DeVos Center for Religion and Civil Society was not included in the November 2011 report.

Institute for Social Policy and Understanding

The Institute for Social Policy and Understanding was not included in the November 2011 report.

(Note continued on next page)

Lutheran World Relief

During its review of some international relief organizations, the Pew Forum discovered that in the November 2011 report it incorrectly selected Lutheran World Relief's expenditures for lobbying as narrowly defined by the IRS (\$9,655 for 2009 and \$16,385 for 2008). This narrow definition likely underestimated the group's spending for the broad definition of advocacy used in the report. Lutheran World Relief subsequently provided the Pew Forum with a report from its internal accounting system showing expenditures for its "Public Policy" efforts, which better fit the definition of lobbying and religion-related advocacy used in the report. These figures have been selected for analysis in the updated report.

National Association of Evangelicals

In the November 2011 report, the NAE was incorrectly categorized as an organization whose principal mission is advocacy; under the decision rules used in the report, the association's total expenditures were selected (\$1,026,565 for 2009 and \$978,367 for 2008). The NAE questioned the figures and informed the Pew Forum that its annual advocacy expenditures are approximately \$150,000. But it did not provide public records or other documents to substantiate a specific figure. As a result, no expenditure data for the group have been selected for analysis in the May 2012 report.

United States Conference of Catholic Bishops

The USCCB questioned the advocacy expenditure figures used in the November 2011 report, which came from the "Policy Activities Expenses" reported in the group's 2008-2009 Consolidated Financial Statements (\$26,662,111 for 2009 and \$25,270,631 for 2008). In its communications with the Pew Forum, the USCCB said its advocacy expenditures are closer to \$1 million, but the group did not provide a detailed breakdown or verifiable source for the estimate. As a result, no expenditures data for the group have been selected for analysis in the updated report.

Washington Office on Latin America

WOLA is no longer primarily funded and supported by churches and religious organizations, so the group has been removed from the study.